2. XEMPLAR POINT:,

( A Complete Institute For Stuafent.ﬂ
CREATING AND SETTING EXAMPLES FOR FUTURE...

CLASS X : SAMPLE QUESTION PAPER - 2
SUBJECT : MATHS - STANDARD (041)

Time Allowed: 3 Hours Maximum Marks: 80

General Instructions:
Read the following instructions carefully and follow them:

1. This question paper contains 38 questions.
2 This Question Paper is divided into 5 Sections A, B, C, D and E.
In Section A, Questions no. 1-18 are multiple choice questions (MCQs) and questions no. 19 and 20 are Assertion- Reason based
questions of 1 mark each.
4. In Section B, Questions no. 21-25 are very short answer (VSA) type questions, carrying 02 marks each.
5. In Section C, Questions no. 26-31 are short answer (SA) type questions, carrying 03 marks each.
6. In Section D, Questions no. 32-35 are long answer (LA) type questions, carrying 05 marks each.
7. In Section E, Questions no. 36-38 are case study based questions carrying 4 marks each with sub parts of the values of 1, 1 and 2 marks
each respectively.
8. All Questions are compulsory. However, an internal choice in 2 Question of Section B, 2 Questions of Section C and 2 Questions of Section
D has been provided. An internal choice has been provided in all the 2 marks questions of Section E.
9. Draw neat and clean figures wherever required.
10. Take 7=22/7 wherever required if not stated.
. Use of calculators is not allowed.
SECTIONA
(Section A consists of 20 questions of 1 mark each)
1. If5tan 6 - 12 = 0, then the value of sin 0 is
5 12 5 12
(@) = (b) — (© — (d —
12 13 13 5
2. Extreme value of a given data
(a) affect the median (b) do not affect the median
(c) nothing can be said (d) none of these
3. If two positive integers p and q can be expressed as p = 18 a’b* and q = 20 a*b?, where a and b are prime
numbers, then LCM (p, q) is
22 b 212 212 31,4
(@) 2a (b) 180a°b (c) 12a°b (d) 180a’b
4. In the given figure, DE || BC. If AD = 2 units, DB = AE = 3 units and EC = x units, then the value of x is
A
2 3
D E
3 X
B C
(a) 2 (b) 3 (c) 5 (d) 9/2
5. If the distance between the points (3, - 5) and (x, — 5) is 15 units, then the values of x are
(a) 12,-18 (b) -12,18 (c) 18,5 (d) -9,-12
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DIRECTION : In the question number 1

1n AABC, AD is the bisector of ZA. Then, & (AABD)

éliz_ I ar (AACD) equals to

(a) AC (b) P () _l_iM (d) None of these

[f o and P are the zeroes of the polynomial p(x) = kx? _(51(\)/1 + 45k and o + 3 = o, then the value of k is
(a) 213 (b) -3/2 (c) 3/2 (d) ,2/3

The greatest number which divide , , , _
des 281 and 1249, leaving remainder 5 and 7 respectively, is

, -
(a) 23 (b) 276 (c) 138 (d) 69
The value of tan 30° tan 45° tan 60° is equal to

() 1 M®) o (c) 2 (d) none of these
For an event £, the correct inequality is

(a) 0<P(E)<1 (b) 0sPE)<1 () 0<PE)<1 (d) 0=P(E)=1
OABC is a square whose three vertices are 0(0, 0), A(0, 5), B(5, 5). Find the length of the diagonal.
(a) 7N2 units (b) 72 units (c) 5v2 units (d) 32 units

144 cartons of orange juice and 90 cartons of apple juice are to be stacked in a canteen. If each stack is of the
same height and if it contains cartons of the same drink, what would be the greatest number of cartons each
stack would have?

(a) 16 (b) 17 (c) 18 (d) 19
The zeroes of the quadratic polynomial 2x* - 3x - 9 are
-3 -3 3 3
= =g -3 2 2
(@) 3 S (b) 5 (c) -3, ; (d) 3, .

A girl calculates that the probability of her winning the first prize in a lottery is 0.08. If 6000 tickets are sold,

how many tickets has she bought?
(2) 40 (b) 240 (c) 480 (d) 750

2tan30° ),
————— | isequalto
1+tan” 30°

(a) sin 60° (b) cos 60° (c) tan60° (d) sin 30°

A vertical pole 10 m long casts a shadow of length 5 m on the ground. At the same time, a tower casts a

shadow of length 12.5 m on the ground. The height of the tower is

(a) 20m (b) 22m (c) 25m (d) 24m

ABCD is a rectangle whose three vertices are B(12, 0), C(12, 5) and D(0, 5), then find the length of one of its
diagonals. . |

(a) 12 units (b) 13 units (c) 15 units (d) 10 units

The sum of all 2-digit numbers is

() 4900 (b) 4905 (c) 40009 (d) 4096

9 and 20, a statement of Assertion (A) is followed by a statement of

Reason (R).

Choose the correct option.

(a) Both assertion (A) and reason (R)
) Both assertion (A) and reason (R)aret
) Assertion (A) is true but reason (R) is false.
d) Assertion (A) is false but reason (R) is true.

(b
(c
(

19. Assertion (A) : The pair of linear equations 5

are true and reason (R) is the correct explanation of assertion (A)
rue and reason (R) is not the correct explanation of assertion (A)

p ot 6}/ =7 and 7X — 8)’ =9 hZ'lS a unique solution.
ul & E1 L 0 th
—_— — —_— N en

Y+ 6= 0 be two linear equations and if
a b g

—0andax+b

Reason (R) : Let a;x + by + €1 ‘
lines and they have no solution.

the pair of equations represent parallel |
43
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20. Assertion (A) : If the circumference of a circle and perimeter of a square is 44 cm, then area of the circle is

49 cm? and area of the square is 154 cm?.
Reason (R) : If the circumference of a circle and the perimeter of a square are equal, then the area of circle

is greater than the area of square.

SECTION B

Section B consists of 5 questions of 2 marks each. !
|

How many numbers lie between 10 and 201, which when divided by 3 leave a remainder 2?

21.
22. (a) State which of the two triangles given in the figure are similar.
A D A
6cm 3cm 12em 9cm
B 4cm C E 45cm F Q R
OR
.. AD  BE ..
(b) In figure, if e EC and ZCDE = ZCED, prove that ACAB is isosceles.
C
D E
A B

23. In Fig. XAY is a tangent to the circle centred at O. If ZABO = 40°, then find m./BAY and m./AOB.

N

N

24. (a) If one zero of the polynomial p(x) = 6x2 + 37x — (k — 2) is reciprocal of the other, then find the value of k.

OR
(b) Given, 0, B are zeroes of the quadratic polynomial x* - 6x + a. Find the value of a if 3 + 2B =20.

25. T . joi i
wo cubes each of volume 64 cm? are joined end to end. Find the surface area of the resulting cuboid.

SECTION C

Section C consists of 6 questions of 3 marks each.

26. The rainwat : ins i
heighta s merlgrttl)m a roof of 22mx20m ‘drams into a cylindrical vessel having diameter of base 2 m and
-2 m. It the vessel is just full, then find the height of the rainfall in cm,

l b

|
9 |
|

75m
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:nd the ratio in which x-axis divi
(2) Fin o X-axis divides - .
25 find the coordinates of the point of di::;?ol:le segment joining the points P(-5, 6) and Q(-1, —3). Also, |
. OR
b) f the points A(a + 4, -3b) and B(a, b) are end po 2
find the value of @ and b and coordinates l;( points of diameter AB of a circle whose centré s (3, -4).
) ates of point A and B
.1 the value of p, if the mes : '
9. find n of the following distribution is 7.5.
X; 3 n
f' r 7 9 [ 13
i = 8 15 p 8 4
A takes 6 days less than Bto d :
0. (a) i LB take to fiish i doa work. If both A and B working together can do it in 4 days, how many
OR
iffere f tw ' ‘ ; i
(b) The di fl nce of two numbers is 4. If the difference of their reciprocals is —1, then find the two
numbers. 21
31, Find the HCEF of 90 and 126. Also, find their LCM and verify that LCM x HCF = Product of two numbers.
SECTION D
Section D consists of 4 questions of 5 marks each.
32, Ifthree coins are tossed simultaneously, ther what is the probability of getting
(i) no head (i) one head only
(iii) not more than 2 heads (iv) atleast one head?

33. (2) Two poles of equal heights are standing opposite each other on either side of the road, which is 80 m
wide. From a point between them on the road, the angles of elevation of the top of the poles are 60° and
30° respectively. Find the height of the poles and the distances of the point from the poles.

OR
(b) The angles of elevation of the top of a tower from two points at a distance of 4 m and 9 m from the base
of the tower and in the same straight line with it are complementary. Prove that the height of the tower
is6 m.
34. Inthe given figure, ABCis 2 triangle and GHED is a rectangle. BC =12 cm, HE = 6 cm, FC = BF and altitude
AF=24 cm. Find the area of the rectangle. A
D E
BEGF H ©
35. (a) The sum of the third and the seventh terms of an A.P. is 6 and their product is 8. Find the sum of first
sixt :
een terms of the A.P. OR
. 2 hat is the first ter at is S hat i the < -
(b) If the sum of the first # terms of an A.D.is 4n _ P ,\v!l‘lt is th/t“tlust tmi;(thdt is bl)ﬂ?1 What is the sum of
first two terms? What is the second term? Similarly, find the 3*, the 107 and the ™ terms.
SECTION E
Section E consists of 3 case study based ques.tians of 4 marks each.
3 which is the shape of a quadrant OABC and a
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- Anjali d weet candy
raw the shape of  $4€ diameter. Ajay erase

quickly the triangular part of
sk Ajay, he tells Hemant that he has erased

Semi circular region with OB as its
f the candy Jeft. The radius of the quadrant

andy, When Hemant came t0 know ar.ld a
'esser portion of the candy than the portion ©
87 cm.




37.

38.

Based on the above information, answer the following questions.
(i) Find the area of candy erased by Ajay.
(ii) Find the area of candy left.
(iii) (a) Find the area of segment OBC.
OR

(iii) (b) Find the perimeter of region OABD. (Use V2 =1.41)

Raghav, who is X standard student, often visit his father’s stall to help him. His father is a fruit seller. He
has some bananas and divide them into two lots A and B, On I** day, he sold the first lot at the rate of 2 for
3 bananas and second lot at the rate of ¥1 per banana and got a total of 3400. On and day, he sold the first Tot
at the rate of ¥ 1 per banana and second lot at the rate of ¥ 4 for 5 banana’s, his total collection was % 460,

Consider the number of bananas in two lots A and B as x and y respectively.

Based on the above information, answer the following questions.
() Represent the situation of day-I algebraically.
(ii) Represent the situation of day-II algebraically.
(iii) (a) Find the number of bananas in lot A.
OR
(iii) (b) Find the number of bananas in lot B.

Ankita wants to make a toran for Diwali using some pieces of cardboard. She cut some cardboard pieces as
shown below. Consider the perimeters of AADE and ABCE are in the ratio 2 : 3.

3cm

D
Based on the above information, answer the following questions.
(i) If the two triangles here are similar by SAS similarity rule, then find their corresponding proportional
sides.
(ii) Find the length of AD.
(iii) (a) Find the length of ED,
OR
(b) Find the length of CD,
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